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3.200 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (°)
19.0  (kN/m*)

0.577
0.0  (kN/m)
132.13  (kN/n?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.
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CLP

(H)3200x (B)2200
0.120

K>

10KkN/m?2

3.200

H=

.260

\14‘%

B= 2.200

No.



8§83
3.1
3.1.1
¢H)
>V > H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m*)
159.88 43.09 0.300 3.78 2.14 132.13 13.21 | 0.K.
0.367 1.50 1.50
e = 0.300
1
L_—_t__—_____—_ﬂ
|
! BN
9 | 3
o
—

No.



3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
139.08 43.09 0.354 3.26 1.86 124.25 2.18 | 0.K.
0.367 1.50 1.50
RIS

124.25

2.18

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 445 86.4
6 6
” o ) 0.04 x 10 32.06 x 10
S ™ 0.66 x 10° 32.71 x 10°
oc 0.03 3.88
N/mm? o ca 10.00 10.00
(
gs 0.3 90.1
(N/mm*) o sa 160 160
T 0.01 0.15
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 86.4 44.5
6 6
M o ) 32.06 x 10 0.28 x 10
S ) 11.96 x 10° 5.64 x 10°
gc 3.88 0.19
mm o ca . .
(N/mm? ) 10.00 10.00
gs 90.1 2.3
(N/mm*) o sa 160 160
T 0.05 0.07
(N/mm*) T ca 0.45 0.45
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4.1

4.1.1

D

4.2

1.000 m

x ¥

No.



4.2.1
@
iy
A X y A X Ay
(m) m @) | (m (m) (m) (m)
2.200x 3.200= 7.040| 1.100| 1.600 7.7440 11.2640
al- 0.140x 0.200= -0.028 | 0.190 | 3.100 -0.0053 -0.0868
b | -1/2x 0.140x 2.740= -0.192 | 0.213 | 2.087 -0.0409 -0.4007
c|- 1.840x 2.940= -5.410 | 1.180 | 1.730 -6.3838 -9.3593
d| -1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213 -0.1918 -0.0275
e - 0.100x 3.080= -0.308 | 2.150 | 1.660 -0.6622 -0.5113
0.973 0.4600 0.8784
3
Vo=3XA L= 0.973 x 1.000 = 0.973 (n*)
b
V =Vo yc= 0.973x 24.5=23.84 (kN) ¢
y TA X 0.4600 0.473 (n)
TA 0.973 —
TA y 0.8784
y S A 0.973 0-903 (m)
)
iy
A X y A X Ay
(m) m (@) | (m (m) (m) (m)
2.080x 3.080= 6.406| 1.160 | 1.660 7.4310 10.6340
a|-1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173 -0.0321 -0.2252
b |- 0.140x 0.140= -0.020 | 0.190 | 0.190 -0.0038 -0.0038
c|-1/2x 1.840x 0.140= -0.129 | 0.873 | 0.167 -0.1126 -0.0215
6.065 7.2825 10.3835
Vo=3XA L= 6.065x 1.000 = 6.065 (n*)
V =Vo ys= 6.065x 19.0= 115.24 (kN)
a
TA X 7.2825
X = s A 5.065 1.201 (m) |
TA Yy 10.3835 C
y S A 6.065 1.712 (M

No.



4.2.2
V =g b L=10.0x 2.080 x 1.000 = 20.80 (KN)
x =B -2 = 2.200- 2% _ 1 160mm)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

=
I

3.200 (m)

Pa
= 0.00 () kN/m)
O(W = 74.64 (kN/m) [ 18.48] 04"
w = 60.00 °) a0.00 000
5 = 0.00 ()
@ = 30.00 (°) 30.0]
20.0
10.0|
0% 4 50 z;o 70 80 90
w ()
B 74.64 x sin(60.00 - 30.00)
Pa = Cos (60.00 - 30.00 - 0.00 - 0.00)
= 43.09 (kN/m)
Hnnnnnnnnnnnnmmm
w Pa W
64.00 42.528 63.05
63.00 42.783 65.88
60.00° 62.00 42.947 68.73
61.00 43.058 71.66
* 60.00 43.093 74.64
59.00 43.053 77.67
58.00 42.951 80.78
57.00 42.780 83.96
56.00 42.525 87.19
V = 43.09 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 43.09 x cos( 0.00 - 0.00) x 1.000 =  43.09 (kN)
X = 2.200 (m)
y = ~8.200 = 1.067 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.200 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.200 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.200 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 23.84 0.473 | 0.903 11.28

2 115.24 1.201| 1.712 138.40

3 20.80 1.160 | 3.200 24.13

4 43.09 | 2.200| 1.067 45.98

z 159.88 43.09 173.81 45.98
HHJ&JH LI
2
1 —Z
v
Fs = >V p +c B L 159.88 x 0.577 + 0.0 x 2.200 x 1.000
B T H B 43.09
= 2.14 Fsa = 1.5
> Mr 173.81
Fs = s Mo 45 98 3.78 Fsa = 1.50
R
> Mr - X Mo 173.81 - 45.98

d = sV 159.88 = 0.800 (m)

R

e = 2 -d= 2'300 - 0.800 = 0.300 (m)

le] = 0.300 (m) 4%* B = 0.367 (m)



3

@ _ TV 6 e . _ 159.88

= + =
e B L 5 )7 2500x 100 * €1

132.13 (kN/n?)
13.21 (kN/?)

6 x

132.13

0.300

2.200

No.
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5.2.2

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 23.84 0.473 | 0.903 11.28

2 115.24 1.201| 1.712 138.40
3 43.09 | 2.200| 1.067 45.98
z 139.08 43.09 149.68 45.98

2
E—=3
1
¥
1)
Fs = >V p +c B L _ 139.08 x 0.577 + 0.0 x 2.200 x 1.000
- ZH - 43.09
= 1.86 Fsa = 1.5
2)
> Mr 149.68
Fs = sWo - 4508 3.26 Fsa = 1.50
R
> Mr - X Mo 149.68 - 45.98
d = sV ) 139.08 = 0.746 (m)
R
e = B -d= 2:200 0.746 = 0.354 (m)

lel 0.354 (m) — B = 0.367 (m)



3)

o _
Q2

sV 6 e 139.08 6 x
B L g )7 o00x 1.000 F (1
124.25 (kN/m*)
2.18 (kN/m*)
TRIRBIR
e = 0.354
!
?
? :
| N

124.25

0.354
2.200

No.
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6.1

0v6°¢




No.

6.2
6.2.1
1
Pa
a = 2.92 () (k7
Wo= o 1.52 (kN/m) [ 1.25] :
w = 58.00 (°)
5 = 2000¢) e
® = 30.00 (°)
0% 4o 50 60 70 80 90 100
w(C)
B 1.52 x sin(58.00 - 30.00)
Pa = cos (58.00 - 30.00 - 20.00 - 2.92)
= 0.72 (kN/m)
INCL LTI DT T
A—
w Pa W
62.00 0.692 1.29
\\| 61.00 0.697 1.34
60.00 0.705 1.40
59.00 0.707 1.45
* 58.00 0.716 1.52
57.00 0.710 1.56
56.00 0.716 1.63
55.00 0.715 1.69
5400 0.716 1.76

17



2)

€ og _ 8

Pa

2.92 (°)
78.57 (KN/m)
56.80 (° )
20.00 (° )
30.00 (° )

[

20.64]

78.57 x sin(56.80 - 30.00)

cos (56.80 - 30.00 - 20.00 - 2.92)

35.51 (kN/m)

No.

30.0

20.04

10.0q

0% "4 50 60 70 8 9 100

nmnnnnnmm

56.80°

H =Pa cos(® +a) L

w()
I
w Pa W
61.00 35.062 67.40
60.00 35.259 69.98
59.00 35.391 72.59
58.00 35.476 75.27
57.00 35.506 78.01
* 56.80 35.507 78.57
56.00 35.476 80.81
55.00 35.388 83.68
54.00 35.230 86.60
53.00 35.017 89.62
52.00 34.734 92.71

L ( ) L =1.000 (m)
Pa o a H y
(kN/m) ¢) ¢) (kN) (m
0.72 20.00 2.92 0.66 0.067
35.51 20.00 2.92 32.71 0.980

18



6.3
6.3.1

6.3.2

6.4
@

No.

H = 0.66 (kN)
H y=0.66 x 0.067
= 0.04 (kN m)
H = 32.71 (kN)
H y=32.71 x 0.980
= 32.06 (kN m)

b = 1000 (mm) [0 0 0 0 0 © |:}5£

d = 80 (mm)

As = D19 - 6.5 ! 1000 !

= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 1862 2 x 1000 x 80

= 1+ /14

1000 15 x 1862
=  44.5 (mm)

M= 0.04 (kN m)
S = 0.66 (kN)
_ 2 M _ 2 x 0.04 x 10°
b x d- ‘%;’ 1000 x 44.5 x (80 - 444%;5,)
= 0.03 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
- M _ 0.04 x 10°
- X - 44.5
As d - 3 1862 x (80 - 3 )

= 0.3 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 0.66 x 10°
~ b d 1000 x 80
= 0.01 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
&
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
= 86.4 (mm)
M= 32.06 (kN m)
S = 32.71 (kN)
2 M 2 x 32.06 x 10°
oc= x 86.4
b x d—T 1000 x 86.4 x ( 220 - 3-)
= 3.88 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o= M _ 32.06 x 10°
- X - 86.4
As d - 3 1862 x ( 220 - 3 )
=  90.1 (N/mm*>) osa= 160 (N/mm*) 0.K.
= S 32.71 x 10°
b d = 1000 x 220

0.15 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7 )
)
7.1
|
1.940
¢H)
A X
(m m ) (m A x (m)
1.940x 0.260= 0.504 0.970 0.4889
a|-1/2x 1.840x 0.140= -0.129 1.227 -0.1583
b|- 0.100x 0.140= -0.014 1.890 -0.0265
0.361 0.3041
2A X 0.3041
X = s A = 0361 - 0.842 (m)
S =A yc L= 0.361 x 24.5 x 1.000 = 8.84 (kN)
M =S x = 8.84x 0.842 = 7.44 (kN m)

No.
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&)

A X
(m m ) (m A x ()
1.940x 3.080= 5.975 0.970 5.7958
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
5.846 5.7167
A X 5.7167
X = 5 A = c a5 - 0.978 (m)

S =A ys L= 5846 x 19.0 x 1.000 = 111.07 (kN)

M =S x = 111.07 x 0.978 = 108.63 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 1.940 x 1.000 = 19.40 (kN)

x
1]

0.970 (m)

M =S x= 19.40 x 0.970 = 18.82 (kN m)




©)
D

2)

Q:
Q2

Qs

132

g +

.13 (kN/m?)
13.21 (kN/n?)

I,
(- ) B

118.08 (KN/n?)

= 13.21 + ( 132.13 -

1.940

13-21% =5 200

(@ +q) L L ( 118.08 + 13.21) x 1.940 x 1.000
2 - 2
127.35 (kN)
I 2 g +q _ 1.940 2 x 13.21 + 118.08
3 o + O -3 13.21 + 118.08
0.712 (m)
S x = 127.35 x 0.712 = 90.67 (kN m)

124.25 (kN/n?)
2.18 (kN/m)

I,
O + (- Qz) B

109.82 (KN/n?)

= 2,18 + ( 124.25 -

1.940

2.18)x 2 200

(@ +q) I L ( 109.82 + 2.18) x 1.940 x 1.000
2 - 2
108.64 (kN)
I 2 g +q _ 1.940 2 x 2.18 + 109.82
3 g + -3 2.18 + 109.82
0.659 (m)
S x = 108.64 x 0.659 = 71.59 (kN m)

No.
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7.2

iy
No S M
(kN) (kN m)
1 8.84 7.44
2 111.07 108.63
3 -127.35 -90.67
4 19.40 18.82
11.96 44.22
Mo = 32.06 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 8.84 7.44
2 111.07 108.63
3 -108.64 -71.59
11.27 44.48
Mo = 32.06 (kN m) M
M = Mo

32.06 (KN m)




No.

o
b = 1000 (mm) 6 060600 0ol N
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
86.4 (mm)
M= 32.06 (kN m)
S = 11.96 (kN)
2 M _ 2 x 32.06 x 10°
b x d—% 1000 x 86.4 x ( 220 - 82'4)
3.88 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 32.06 x 10°
X - 86.4
As d - 3 1862 x ( 220 - 3 )
90.1 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 11.96 x 10°
b d 1000 x 220

0.05 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



No. 26

§8 ( )
( )
8.1
I
0 .!ﬁoo
@
A=b h= 0.100 x 0.120 =  0.012 (m)
S =A yc L= 0.012x 24.5x 1.000 =  0.29 (kN)
M =S x = 0.29 x 0.050 =  0.01 (kN m)
@
A=b h= 0.100 x 3.080 = 0.308 (m)
S =A ys L= 0.308 x 19.0 x 1.000 =  5.85 (kN)

M =S x = 5.8 x 0.050 =  0.29 (kN m)




3

©)
D

Q:

Qs

10.00 (kN/n?)

g b L=

0.050 (m)

S x =

10.00 x

1.00 x

132.13 (kN/n?)
13.21 (kN/?)

I,
O + (- Qz) B

18.62 (KN/?)

0.100 x 1.000 =

0.050 =

= 13.21 + ( 132.13 -  13.21)x

1.00 (kN)

0.05 (kN m)

0.100
2.200

(@ +qg) I L _ ( 18.62+ 13.21) x 0.100 x 1.000
2 - 2
1.59 (kN)
I 2 @ +q _ 0.100 2 x 13.21 + 18.62
3 o + O -3 13.21 + 18.62
0.047 (m)
S x = 1.59 x 0.047 =  0.07 (kN m)

No.
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8.2

2)

D

2)

No.

o = 124.25 (KN/m*)
g = 2.18 (kN/m)
G =g + (G- G) 44%3,: 2.18 + ( 124.25 - 2.18)x g:;gg
= 7.73 (kN/m)
s (@ +q) L L ( 7.73+ 2.18) x 0.100 x 1.000
2 2
= 0.50 (kN)
y I. 2 g +g _ 0.100  2x 2,18+ 7.73
3 o + O T3 2.18+  7.73
= 0.041 (m)
M = S x = 0.50x 0.041 = 0.02 (kN m)
No S M
(kN) kN m)
1 0.29 0.01
2 5.85 0.29
3 -1.59 -0.07
4 1.00 0.05
b3 5.55 0.28
No S M
(kN) kN m)
1 0.29 0.01
2 5.85 0.29
3 -0.50 -0.02
b3 5.64 0.28
S = 5.64 (kN)
Moo= 0.28 (kN m)

28



8.3

No.

[ 0 0 0 0 0 o |:33E

b = 1000 (mm)
d = 80 (mm) ‘ 1000 ‘
As = D19 - 6.5 ‘ ‘
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 80
= 1+ /1 +
1000 15 x 1862
44.5 (mm)
M= 0.28 (kN m)
S = 5.64 (kN)
2 M _ 2 x 0.28 x 10°
b x d—% 1000 x 44.5 x (80 - 4;"'5)
0.19 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 0.28 x 10°
X - 44.5
As d - 3 1862 x (80 - 3 )
2.3 (N/mm*) osa= 160 (N/mm*) 0.K.
S 5.64 x 10°
b d 1000 x 80
0.07 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



